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RRB NTPC STAGE-1 & 2CBT EXAM.

e

/ 3 st ¥ W

lilﬂ-‘” s HTm
= 16725 % _?3_

1672500
= B 21442 30 %0
aifFa g
S A

— 15685 x 100 _ 1568500
= 18452 94 %o

s+ TR AU AT 4% T A T w
i = (21442.30 - 18452.92) %o

= 2989.38 %o |J 2989 %o
arn @il ® A= x %o

Bl
ﬁl“ xx35=xx'?='?x

"
. wa =N
1514.(C) |famr= ‘L‘“[z” mn] ™

30"
28,561 = 10,000 (l+iﬁ3
61
3y (13 . 2856°

13)"  13x13x13x13 [_1_?:] =[_1_§]
& <(10 10
= [ ] lﬂxlﬂnl{]xlﬂ

om: n=4am @@ (@n)=4 _ —
1515.(B) :Fn 1 %o, 2 To @@ S Fo figs wAA: 2Xx, 94X

: A
1 %o, 2 Fo 7T S F0 o 1 e FEL: 2x, 8x

o 8 = o0 =T =50 2_51:%1
Tx 20x-Tx 13x o,
g S e 5x =455
WA =x-20="20 20 gt X S
iy A 1 e Ax & x=4_5§=13
20 8 160 354 & e Ee
13x 91x a2 %o o fF HEW = AX = D
A2 160 1516.(C) v e (S.D.) = 9, Frsert (Variance)
T e o
- 160 160 ;Egjz=9x9=31
13x . i
- = AT wH OH
fewz foim 1 U= o0 1517.1Q) 17,18, 24, 25, 27, 29, 42, 42, 48, 63, 65, 69,
‘98
.ig_g. —92.343.75 el n = 15, n fam &, @
75000 n+1
x= ﬂ'migﬁxlmﬁsla wfiza (Median) = (—E‘]i‘ﬁ
wm: wieh # W= x = 2,75,000% [15;,1)&_
? L2
LTI ol e 16
w2 w30 o =[E]ﬁ“'““=42
30 oAl 5ind — cos = 0
2+ goun 2t 15”'{9} sinf = cos® .. B = 45°
4+1 5 0 ol e o
o Alq, sin®0 + cos® = [ﬁ] +[—2]
555 _ B512 pratonta e
% » "8 8 4
22 13 11
§ 435;”2:-:1% oo 1519.(8) = =3.142, 17 = 0.764, 19 = 0578,
2
L o = _33 ‘ﬂ'ﬂfﬁ 3
13 ﬂw’ﬂ 48 - -“ﬂ- m-ﬂ- -
54 + 23+ 66+44 + 79+ 21 0.578 < 0.666 < 0.764 < 3,142
+54+67+29+59 1 2 13 _22
10 19 3 17 7
496 11213 22
=ree =85 M 19'3"17" 7
www.platformonlinetest.com RRB PREVIUS YEAR GOLVED PAPER + MAYYE, VoLt @ 170

Scanned by CamScanner



